Review for Exam

Solve the following operations.

Q6
257 8,000 9,537 57
+854 - 3,768 -5782 + 84
Estimate the sums or differences.
2,185 =2 4,734 2 523> 79 =2
+ 5937 = - 1,486 2 - A7 > +27 =
Subtract Across Zero.
700 2,402 8000 4,005
- 543 - 146 - 379 - 1,317

In my rock collection, | have 37 gray rocks and 24 colored rocks. How many rocks do | have in
all?

OPERATION ANSWER

rocks

Carlos had 2,080 Legos, but he lost 417 Legos. How many Legos does he have now?
Operation Answer

Legos

Andrea baked 5 muffins. Emma baked 8 times as many. How many muffins did Emma bake?
Operation Answer

muffins



